<'RRino

WD3KR
KammRack

Instruclions

CITY CRASH (v)

WD3KR_b rhinoproducts.co.uk



WD3KR:

Fiat Doblo 2010-

Vauxhall Combo 2012 - 2018

Max
50kg/110lbs

KammRack

1“\‘; —

\‘.‘f'\\"’
7

|

W

A
R

\
\

—=

C04 x 6
SA397U x 3[_| SA398U x 3|

PS519 x 1 [ | PS520 x 1 [ ]

SA437 x 1[ |

EXT15-02 x 2 [ |

WD3KR_b



Fitting Kit

=

PS176 x 4 [ | PS178 x 2 [ ] PS030 x4 [ | PS031 x4 [ |
I l FS042
FWO001 (M6) x 10 FWO008 (M6) x 10 FTO1 x 1[ ] (M6 x 40) x 4
] [] L]

= FB007 FS039

= (M6 x 45) x 4 (M6 x 30) x 2
" [] []
FS059 [ |

(M8 x 25) x 16 FTO5 x 1[ |

FNO85 x 16 |

WD3KR_b 3



SA398U
PS178/PS031

| —

PS176

-
®
o
(7]
o
~
0
~
-
(7]
o

WD3KR_b



m A . £
\ ¥ - < :se l o
) £ = . N /] @
< £ X s X
% “ - /17 ©
© = ) ] ) / =
M “ N ,, +
£ o) n
m o ( N\ & / -
0 = W\ Y1/, -
< + N T o
s - =
~ 0 - (7]
(=} = o o
o (=] o "
m S S -
(T8 T8 T8 -
0 -
o 8 8 o
% o 6 O
o e g E
» i
o £ £
2 E -
% 0
3 %
X
;l / 2 M m
= £
+ o
, % ®
/ X
/ - N
/. % =
/ = o . o 9 =
m © ©O
/ o o © O
1
e EE

WD3KR_b



\\\\\

£

£

o
9 \We—TI

x <
© {
s /
+
N i /««lﬂr,//////
x NN
@ SN
3 d-Ne-
= . . nooom
3 © e

WD3KR_b



K602- Combo/Doblo

@

100kg
L

Max

27kg/60lbs

2010- L1, Twin Doors

|~—2755 mm
4390 MM —

g@axs

| I T

325mm

K603- Combo/Doblo 2011- Maxi, Twin Doors

100kg
Max

<D

3105 mm ——{
fe——— 4740 MM ———

WD3KR_b




\

A\ =
\
\

N
>>\\\

I
A\

WD3KR_b



WD3KR_b 9



30. 31. T

\
\
\\‘; \

\
=\
X

Il

I

(I ]

1 i {?“
y

I

Ii

CLICK!

PS519

10 WD3KR_b



36. 37.

WD3KR_b 11



A\
\UK+44(0) 151 319 2031 [@] rhinoproducts.co.uk <] saleserhinoproducts.co.uk

1 2 Manuf ed by Rhino Prod Ltd in the United Kingdom. WD3KR_b

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



- ®
‘{f(/ﬁ PR®D UCTS

GB3KR
KammRack

Instruclions

{cm( CRASH (,,)}

According to ISO/ PAS 11154:2006

GB3KR_b rhinoproducts.co.uk



GB3KR:

CITROEN Berlingo, 2018 — Onwards
PEUGEOT Partner, 2018 — Onwards
VAUXHALL Combo, 2018 — Onwards
TOYOTA ProAce City, 2020-Onwards

Max

KammRack

C04 x 8
*optional upgrade

*

SA397U x 3| SA398U x 3|

ASFx1 [ ]

PS519 x 1 [ |

EXT15-02x2 [ | SA436 x 1[_|

2 GB3KR_b



Fitting Kit

Y, s B~

PS178x2 [ ] PS254L x 1 D PS254R x 1 D PS047 x 4[|

S & O

FW002 (M8) x 6 | FWooo (M8)x6[ | FNossx16[ ]  FTo1x1[]

PS404 x 2 [ | PS412x2 [ | FTO5 x 1

Fsos9[ |
(M8 x 25) x 16

Fso61[ |
= (M8 x 35) x 2

FS105[ |
(M8 x55)x 2

GB3KR_b 3



SA398U

SA398U

PS254L

PS254R

GB3KR_b



PS178

PS404

M8 x 25mm M8 x 35mm

-|IM8 x 55mm
= PS254L/R

-

GB3KR_b



1850mm

_j\
(o

|
L

e

2800mm
4300mm

Doors

100kg
Max

I
I
—

&
T
26kg/50Ibs

K672- Berlingo/Partner/Combo 2018- L1, H1, Twin

=i

395mm

GB3KR_b



;T
ROOO0OOCOC0CKN000E L, HY, Tailnste

168 ! —
= g
= :

e S e

GB3KR_b 7



EXT15-02




26.

©

CLICK!

27.

=10 Nm

=10 Nm

GB3KR_b

S/

CLICK!



33.

@

CLICK!

30mm MAX

CLICK!

10 GB3KR_b



N
\\ UK +44 (0) 151 319 2031 [&] rhinoproducts.co.uk D] sates@rhinoproducts.co.uk

38. 39.

GB3KR b Manuf ed by Rhino Products Ltd in the United Kingdom. 11

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



